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¬fl̋Á‡Ê∑§Ê ¬⁄UËˇÊÊ, 2013 
PRAVESHIKA EXAMINATION, 2013 

ªÁáÊÃ  
MATHEMATICS  

‚◊ÿ — 3 
1
4   ÉÊá≈U 

¬ÍáÊÊZ∑§ — 80 
 

 ¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê — 

 GENERAL INSTRUCTIONS TO THE EXAMINEES : 

 1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –  

  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 

 2. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥ –   

  All the questions are compulsory.  

 3. ¬à̋ÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U ¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¥ –  

  Write the answer to each question in the given answer-book 

only. 

 4. Á¡Ÿ ¬˝‡ŸÊ¥ ◊¥ •ÊãÃÁ⁄U∑§ πá«U „Ò¥U, ©UŸ ‚÷Ë ∑§ ©UûÊ⁄U ∞∑§ ‚ÊÕ „UË Á‹π¥ –  

  For questions having more than one part, the answers to those 

parts are to be written together in continuity. 
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 5. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª̋¡Ë M§¬Ê¢Ã⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •¢Ã⁄U / Áfl⁄UÊœÊ÷Ê‚ 
„UÊŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ê „UË ‚„UË ◊ÊŸ¥ –  

  If there is any error / difference / contradiction in Hindi and 

English versions of the question paper, the question of Hindi 

version should be treated valid. 

 6. πá«U ¬̋‡Ÿ ‚¢ÅÿÊ  •¢∑§ ¬̋àÿ∑§ ¬̋‡Ÿ  

  A 1 – 10 1 

  B 11 – 15 2 

  C 16 – 25 3 

  D 26 – 30 6 

  Part Question Nos. Marks per question 

  A 1 – 10 1 

  B 11 – 15 2 

  C 16 – 25 3 

  D 26 – 30 6 

 7. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 28 fl 30 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –  

  There are internal choices in Question Nos. 28 and 30. 

 8. •¬ŸË ©UûÊ⁄U ¬ÈÁSÃ∑§Ê ∑§ ¬Îc∆UÊ¥ ∑§ ŒÊŸÊ¥ •Ê⁄U Á‹Áπ∞ – ÿÁŒ ∑§Êß¸ ⁄U»§ ∑§Êÿ̧ ∑§⁄UŸÊ „UÊ, 
ÃÊ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ∑§ •ÁãÃ◊ ¬Îc∆UÊ¥ ¬⁄U ∑§⁄¥U •ÊÒ⁄U ßã„¥U ÁÃ⁄U¿UË ‹ÊßŸÊ¥ ‚ ∑§Ê≈U∑§⁄U ©UŸ ¬⁄U 
“⁄U»§ ∑§Êÿ¸” Á‹π Œ¥ – 

  Write on both sides of the pages of your answer-book. If any 

rough work is to be done, do it on last pages of the answer-book 

and cross with slant lines and write ‘Rough Work’ on them. 

 9. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 26 ∑§Ê ‹πÊÁøòÊ ª˝Ê»§ ¬¬⁄U ¬⁄U ’ŸÊß∞ –  

  Draw the graph of Question No. 26 on graph paper.  
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π¢«U – A  

PART – A  

1. ‚¢ÅÿÊ•Ê¥ 44 •ÊÒ⁄U 99 ∑§Ê ◊„UûÊ◊ ‚◊Ê¬flÃ¸∑§ ( H.C.F. ) ôÊÊÃ ∑§ËÁ¡ÿ –  

 Find the H.C.F. of numbers 44 and 99. 

2. 7  ¬Áã‚‹ ÃÕÊ 5 ¬Ÿ ∑§Ê ∑È§‹ ◊ÍÀÿ 29 L§0 „ÒU – ß‚∑§Ê ’Ë¡ªÁáÊÃËÿ M§¬ ◊¥ Á‹Áπ∞ –  

 Total price of 7 pencils and 5 pens is Rs. 29. Write it down in the 

algebraic form. 

3. ‚◊ÊãÃ⁄U üÊ…∏UË 2, 7, 12, …… ∑§Ê 11 flÊ° ¬Œ ôÊÊÃ ∑§ËÁ¡ÿ –  

 Find the eleventh term of the A.P. 2, 7, 12, …… . 

4. ©U‚ Á’ãŒÈ ∑§ ÁŸŒ¸‡ÊÊ¢∑§ ôÊÊÃ ∑§ËÁ¡ÿ, ¡Ê Á’ãŒÈ•Ê¥ ( – 1, 7 )  •ÊÒ⁄U ( 4, – 3 )  ∑§ ¡Ê«∏U ∑§Ê 2 

: 3 ∑§ •ŸÈ¬ÊÃ ◊¥ Áfl÷ÊÁ¡Ã ∑§⁄UÃÊ „ÒU –  

 Find the coordinates of the point which divides the join of points  

( – 1, 7 ) and ( 4, – 3 ) in the ratio 2 : 3. 

5. Á’ãŒÈ ( 7,  – 3 )  ∑§Ë y-•ˇÊ ‚ ŒÍ⁄UË Á‹Áπÿ –  

 Write down the distance of the point ( 7,  – 3 ) from y-axis. 

6. ÿÁŒ ∞∑§ Á’ãŒÈ P ‚ O  ∑§ãº˝ flÊ‹ Á∑§‚Ë flÎûÊ ¬⁄U PA  ÃÕÊ PB S¬‡Ê¸ ⁄UπÊ∞° ¬⁄US¬⁄U 80° ∑§ 
∑§ÊáÊ ¬⁄U ¤ÊÈ∑§Ë „UÊ¥, ÃÊ ∠ POA ∑§Ê ôÊÊÃ ∑§ËÁ¡ÿ –  

 If tangents PA and PB from a point P to a circle with centre O are 

inclined to each other at an angle of 80°, then find  ∠ POA. 

7. ÿÁŒ ∞∑§ flÎûÊ ∑§Ë ÁòÊÖÿÊ 14 ‚◊Ë „UÊ, ÃÊ flÎûÊ ∑§Ê ˇÊòÊ»§‹ ôÊÊÃ ∑§ËÁ¡ÿ –  

 If the radius of a circle is 14 cm, then find the area of the circle. 
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8. 7·5 ‚◊Ë ⁄UπÊ πá«U ∑§Ê 2 : 3 ∑§ •ŸÈ¬ÊÃ ◊¥ Áfl÷ÊÁ¡Ã ∑§ËÁ¡ÿ – ∑§fl‹ ÁøòÊ ’ŸÊßÿ –  

 Divide the line segment of 7·5 cm in the ratio of 2 : 3. Draw figure only. 

9. ÁòÊÖÿÊ  r  flÊ‹ flÎûÊ ∑§ ∞∑§ ÁòÊÖÿ π¢«U Á¡‚∑§Ê ∑§ÊáÊ •¢‡ÊÊ¥ ◊¥ θ  „ÒU, ÃÊ ‚¢ªÃ øÊ¬ ∑§Ë ‹ê’Êß¸ 

∑§Ê ‚ÍòÊ Á‹Áπÿ –  

 Radius of the circle is r and θ is the angle of the sector in degree. Write 

down the formula of length of corresponding arc. 

10. Á∑§‚Ë ¬ÿ̋Êª ∑§Ë ‚÷Ë ¬˝Ê⁄UÁê÷∑§ ÉÊ≈UŸÊ•Ê¥ ∑§Ë ¬˝ÊÁÿ∑§ÃÊ•Ê¥ ∑§Ê ÿÊª Á‹Áπÿ –  

 Write down the sum of the probabilities of all the elementary events of 

an experiment. 

π¢«U – B 

PART – B 

11. ÿÁŒ  ∆ ABC ◊¥ DE ™™ BC „ÒU, AD = 1·5 ‚◊Ë; BD = 3 ‚◊Ë ÃÕÊ AE = 1 ‚◊Ë „UÊ, 

ÃÊ EC ôÊÊÃ ∑§ËÁ¡ÿ –  

 If  DE ™™ BC in ∆ ABC, AD = 1·5 cm, BD = 3 cm and AE = 1 cm, then 

find EC. 

12. ÿÁŒ sin A = 
3
5   „UÊ, ÃÊ cos A •ÊÒ⁄U cosec A ôÊÊÃ ∑§ËÁ¡ÿ –  

 If  sin A = 
3
5  , then find cos A and cosec A. 
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13. 
tan 65°
cot 25°   ∑§Ê ◊ÊŸ ôÊÊÃ ∑§ËÁ¡ÿ –  

 Find the value of  
tan 65°
cot 25°  . 

14. sin 35° cos 55° + cos 35° sin 55°  ∑§Ê ◊ÊŸ ôÊÊÃ ∑§ËÁ¡∞ –  

 Find the value of  sin 35° cos 55° + cos 35° sin 55°. 

15. 1 ‚◊Ë √ÿÊ‚ flÊ‹Ë 8 ‚◊Ë ‹ê’Ë ÃÊ°’ ∑§Ë ¿U«∏U ∑§Ê ∞∑§ ‚◊ÊŸ øÊÒ«∏UÊß¸ flÊ‹ 18 ◊Ë ‹ê’ ∞∑§ 

ÃÊ⁄U ∑§ M§¬ ◊¥ πË¥øÊ ¡ÊÃÊ ( ’Œ‹Ê ¡ÊÃÊ „ÒU )–  ÃÊ⁄U ∑§Ë ◊Ê≈UÊß¸ ôÊÊÃ ∑§ËÁ¡ÿ –  

 A copper rod of diameter 1 cm and length 8 cm is drawn into a wire of 

length 18 m of uniform thickness. Find the thickness of the wire. 

π¢«U – C 

PART – C 

16. ©U‚ ’«∏U ‚ ’«∏U œŸÊà◊∑§ ¬ÍáÊÊZ∑§ ∑§Ê ôÊÊÃ ∑§ËÁ¡ÿ ¡Ê 396, 436 •ÊÒ⁄U 542 ∑§Ê Áfl÷ÊÁ¡Ã 

∑§⁄UŸ ∑§ ¬‡øÊÃ˜ ‡Ê·»§‹ ∑˝§◊‡Ê— 5, 11 •ÊÒ⁄U 15 ⁄U„UÃÊ „UÊ –  

 Find the highest positive integer by which dividing the numbers 396, 

436 and 542 remainders are 5, 11 and 15 respectively. 

17. x 3  – 3x 2  + 3x – 5 ∑§Ê x – 1 – x 2  ‚ ÷Êª ŒËÁ¡ÿ •ÊÒ⁄U Áfl÷Ê¡Ÿ ∞‹ªÊÁ⁄Uâ◊ ∑§Ë 

‚àÿÃÊ ∑§Ë ¡Ê°ø ∑§ËÁ¡ÿ –   

 Divide x 3  – 3x 2  + 3x – 5 by x – 1 – x 2  , and verify the division 

algorithm. 
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18. ‚È⁄U‡Ê Ÿ 1985 ◊¥ 5,000 L§0 ∑§ ◊ÊÁ‚∑§ flÃŸ ¬⁄U ∑§Êÿ̧ ¬˝Ê⁄Uê÷ Á∑§ÿÊ •ÊÒ⁄U ¬˝àÿ∑§ fl·¸  

200 L§0 ∑§Ë flÃŸ flÎÁh ¬˝ÊåÃ ∑§Ë – Á∑§‚ fl·¸ ◊¥ ©U‚∑§Ê flÃŸ 7,000 L§0 „UÊ ªÿÊ ?  

 Suresh started work in 1985 at an annual salary of Rs. 5,000 and 

received an increment of Rs. 200 each year. In which year did his 

income reach Rs. 7,000 ? 

19. ÿÁŒ tan 2A = cot ( A – 18° ) ¡„UÊ° 2A ∞∑§ ãÿÍŸ ∑§ÊáÊ „Ò, ÃÊ A ∑§Ê ◊ÊŸ ôÊÊÃ ∑§ËÁ¡ÿ – 

 If  tan 2A = cot ( A – 18° ), where 2A is an acute angle, then find the 

value of A. 

20. ∞∑§ ‚◊Ã‹ ¡◊ËŸ ¬⁄U π«∏UË ◊ËŸÊ⁄U ∑§Ë ¿UÊÿÊ ©U‚ ÁSÕÁÃ ◊¥ 40 ◊Ë≈U⁄U •Áœ∑§ ‹ê’Ë „UÊ ¡ÊÃË 

„ÒU ¡’Á∑§ ‚Íÿ̧ ∑§Ê ©UÛÊÃÊ¢‡Ê 60°  ‚ ÉÊ≈U∑§⁄U 30°  „UÊ ¡ÊÃÊ „ÒU – ◊ËŸÊ⁄U ∑§Ë ™°§øÊß¸ ôÊÊÃ   

∑§ËÁ¡ÿ – 

 The shadow of a tower standing on a plane ground is found to be 40 m 

longer when the sun’s altitude reduces to 30° from 60°. Find the 

height of the tower. 

21. Á‚h ∑§ËÁ¡∞ Á∑§ ∞∑§ ’ÊsÔ Á’ãŒÈ ‚ flÎûÊ ¬⁄U πË¥øË ªß¸ S¬‡Ê¸ ⁄UπÊ•Ê¥ ∑§Ë ‹ê’ÊßÿÊ° ’⁄UÊ’⁄U „UÊÃË 

„Ò¥ –  

 Prove that the lengths of tangents drawn from an external point to the 

circle are equal. 
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22. 5 ‚◊Ë, 6 ‚◊Ë •ÊÒ⁄U 7 ‚◊Ë ÷È¡Ê•Ê¥ flÊ‹ ∞∑§ ÁòÊ÷È¡ ∑§Ë ⁄UøŸÊ ∑§ËÁ¡ÿ •ÊÒ⁄U Á»§⁄U ∞∑§ •ãÿ 
ÁòÊ÷È¡ ∑§Ë ⁄UøŸÊ ∑§ËÁ¡ÿ, Á¡‚∑§Ë ÷È¡Ê∞° ¬˝Õ◊ ÁòÊ÷È¡ ∑§Ë ‚¢ªÃ ÷È¡Ê•Ê¥ ∑§Ë 7

5  ªÈŸË „UÊ¥ – 

⁄UøŸÊ ∑§ ¬Œ Á‹Áπ∞ –  

 Construct a triangle with sides 5 cm, 6 cm and 7 cm and then another 

triangle whose sides are  75   times of the corresponding sides of the first 

triangle. Write down steps of construction. 

23. 4 ‚◊Ë ÁòÊÖÿÊ flÊ‹ ∞∑§ flÎûÊ ∑§ ©U‚ ÁòÊÖÿπá«U ∑§Ê ˇÊòÊ»§‹ ôÊÊÃ ∑§ËÁ¡ÿ, Á¡‚∑§Ê ∑§ÊáÊ 60° 

„ÒU – ‚ÊÕ „UË ‚¢ªÃ ŒËÉÊ¸ ÁòÊÖÿπá«U ∑§Ê ˇÊòÊ»§‹ ÷Ë ôÊÊÃ ∑§ËÁ¡∞ –  

 ( π = 3·14 ∑§Ê ¬˝ÿÊª ∑§⁄¥U ). 

 Find the area of the sector of a circle with radius 4 cm and of angle 

60°. Also find the area of the corresponding major sector. 

 ( Use  π = 3·14 ). 

24. 4·2 ‚◊Ë ÁòÊÖÿÊ flÊ‹ œÊÃÈ ∑§ ∞∑§ ªÊ‹ ∑§Ê Á¬ÉÊ‹Ê∑§⁄U 7 ‚◊Ë ÁòÊÖÿÊ flÊ‹ ∞∑§ ’‹Ÿ ∑§ M§¬ 

◊¥ …UÊ‹Ê ¡ÊÃÊ „ÒU – ’‹Ÿ ∑§Ë ™°§øÊß¸ ôÊÊÃ ∑§ËÁ¡∞ –  

 A metallic sphere of radius 4·2 cm is melted and recast into the shape 

of a cylinder of radius 7 cm. Find the height of the cylinder. 

25. Á∑§‚Ë ∑§Ê⁄UáÊ 12 π⁄UÊ’ ¬Ÿ, 132 •ë¿U ¬ŸÊ¥ ◊¥ Á◊‹ ª∞ „Ò¥U – ∑§fl‹ Œπ∑§⁄U ÿ„U Ÿ„UË¥ ’ÃÊÿÊ 

¡Ê ‚∑§ÃÊ „ÒU Á∑§ ∑§Êß¸ ¬Ÿ π⁄UÊ’ „ÒU ÿÊ •ë¿UÊ „ÒU – ß‚ ‚◊Í„U ◊¥ ‚, ∞∑§ ¬Ÿ ÿÊŒÎë¿UÿÊ ÁŸ∑§Ê‹Ê 

¡ÊÃÊ „ÒU – ÁŸ∑§Ê‹ ª∞ ¬Ÿ ∑§Ê •ë¿UÊ „UÊŸ ∑§Ë ¬˝ÊÁÿ∑§ÃÊ ôÊÊÃ ∑§ËÁ¡∞ –  

 12 defective pens are accidentally mixed with 132 good ones. It is not 

possible to just look at a pen and tell whether it is defective or not. 

One pen is taken out at random from this lot. Determine the 

probability that the pen taken out is a good one. 
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π¢«U – D 

PART – D 

26. Á∑˝§∑§≈U ≈UË◊ ∑§ ∞∑§ ∑§Êø Ÿ ∞∑§ ’À‹Ê •ÊÒ⁄U 2 ª¥Œ¥ 300 L§0 ◊¥ π⁄UËŒË – ’ÊŒ ◊¥ ∞∑§ „UË 

¬˝∑§Ê⁄U ∑§ •ãÿ 2 ’À‹ ÃÕÊ 3 ª¥Œ¥ 525 L§0 ◊¥ π⁄UËŒË – ß‚ ÁSÕÁÃ ∑§Ê ’Ë¡ªÁáÊÃËÿ M§¬Ê¥ ◊¥ 

√ÿÄÃ ∑§ËÁ¡ÿ ∞fl¢ ß‚∑§Ê ª˝Ê»§Ëÿ ÁflÁœ ‚ „U‹ ∑§ËÁ¡∞ – ÿ„U ÷Ë ôÊÊÃ ∑§ËÁ¡∞ Á∑§ ∑§Êø ∞∑§ 

’À‹Ê ÃÕÊ ∞∑§ ª¥Œ Á∑§ÃŸ L§¬ÿÊ¥ ◊¥ π⁄UËŒ ‚∑§ªÊ ?  

 Coach of a cricket team buys one bat and 2 balls for Rs. 300. Later he 

buys another 2 bats and 3 balls of the same kind for Rs. 525. 

Represent this situation algebraically and solve it by graphical method. 

Also find out that how much money coach will pay for the purchase of 

one bat and one ball. 

27. 13 ◊Ë≈U⁄U √ÿÊ‚ flÊ‹ ∞∑§ flÎûÊÊ∑§Ê⁄U ¬Ê∑¸§ ∑§Ë ¬Á⁄U‚Ë◊Ê ∑§ ∞∑§ Á’ãŒÈ ¬⁄U ∞∑§ πê÷Ê ß‚ ¬˝∑§Ê⁄U 

ªÊ«∏UŸÊ „ÒU Á∑§ ß‚ ¬Ê∑¸§ ∑§ ∞∑§ √ÿÊ‚ ∑§ ŒÊŸÊ¥ •ãÃ Á’ãŒÈ•Ê¥ ¬⁄U ’Ÿ »§Ê≈U∑§Ê¥ A •ÊÒ⁄U B ‚ πê÷ 

∑§Ë ŒÍÁ⁄UÿÊ¥ ∑§Ê •ãÃ⁄U 7 ◊Ë≈U⁄U „UÊ – ÄÿÊ ∞‚Ê ∑§⁄UŸÊ ‚ê÷fl „ÒU ? ÿÁŒ „ÒU, ÃÊ ŒÊŸÊ¥ »§Ê≈U∑§Ê¥ ‚ 

Á∑§ÃŸË ŒÍÁ⁄UÿÊ¥ ¬⁄U πê÷Ê ªÊ«∏UŸÊ „ÒU ?  

 A pole has to be erected at a point on the boundary of a circular park 

of diameter 13 metres in such a way that the difference of its distances 

from two diametrically opposite fixed gates A and B on the boundary is 

7 metres. Is it possible to do so ? If yes, at what distances from the two 

gates should the pole be erected ? 
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28. ÿÁŒ Á∑§‚Ë ÁòÊ÷È¡ ∑§Ë ∞∑§ ÷È¡Ê ∑§ ‚◊ÊãÃ⁄U •ãÿ ŒÊ ÷È¡Ê•Ê¥ ∑§Ê Á÷ÛÊ-Á÷ÛÊ Á’ãŒÈ•Ê¥ ¬⁄U 

¬˝ÁÃë¿UŒ ∑§⁄UŸ ∑§ Á‹∞ ∞∑§ ⁄UπÊ πË¥øË ¡Ê∞, ÃÊ Á‚h ∑§ËÁ¡∞ Á∑§ ÿ •ãÿ ŒÊ ÷È¡Ê∞° ∞∑§ „UË 

•ŸÈ¬ÊÃ ◊¥ Áfl÷ÊÁ¡Ã „UÊÃË „Ò¥ –  

•ÕflÊ  

 Á‚h ∑§ËÁ¡∞ Á∑§ ÿÁŒ Á∑§‚Ë ÁòÊ÷È¡ ∑§Ë ∞∑§ ÷È¡Ê ∑§Ê flª¸ •ãÿ ŒÊ ÷È¡Ê•Ê¥ ∑§ flªÊZ ∑§ ÿÊª ∑§ 

’⁄UÊ U’⁄U „UÊ, ÃÊ ¬„U‹Ë ÷È¡Ê ∑§Ê ‚ê◊Èπ ∑§ÊáÊ ‚◊∑§ÊáÊ „UÊÃÊ „ÒU –  

 If a line is drawn parallel to one side of a triangle to intersect the other 

two sides in distinct points then prove that the two sides are divided in 

the same ratio. 

OR 

 Prove that in a triangle, if square of one side is equal to the sum of the 

squares of the other two sides, then the angle opposite the first side is 

a right angle. 

29. ‡ÊË·ÊZ A ( 0, – 1 ), B ( 2, 1 )  •ÊÒ⁄U C ( 0, 3 )  flÊ‹ ÁòÊ÷È¡ ABC  ∑§Ë ÷È¡Ê•Ê¥ ∑§ ◊äÿ-

Á’ãŒÈ•Ê¥ ‚ ’ŸŸ flÊ‹ ÁòÊ÷È¡ ∑§Ê ˇÊòÊ»§‹ ôÊÊÃ ∑§ËÁ¡ÿ – ß‚ ˇÊòÊ»§‹ ∑§Ê ÁŒ∞ „ÈU∞ ÁòÊ÷È¡ 

ABC ∑§ ˇÊòÊ»§‹ ∑§ ‚ÊÕ •ŸÈ¬ÊÃ ôÊÊÃ ∑§ËÁ¡ÿ –  

 Find the area of the triangle formed by joining the mid-points of the 

sides of the triangle ABC whose vertices are A ( 0, – 1 ), B ( 2, 1 ) and 

C ( 0, 3 ). Find the ratio of this area to the area of the triangle ABC. 
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30. ∞∑§ ¡ËflŸ ’Ë◊Ê ∞¡¥≈U 100 ¬ÊÚÁ‹‚Ë œÊ⁄U∑§Ê¥ ∑§Ë •ÊÿÈ ∑§ ’¢≈UŸ ∑§ ÁŸêŸÁ‹ÁπÃ •Ê°∑§«∏U ôÊÊÃ 

∑§⁄UÃÊ „ÒU – ◊Êäÿ∑§ •ÊÿÈ ¬Á⁄U∑§Á‹Ã ∑§ËÁ¡∞, ÿÁŒ ¬ÊÚÁ‹‚Ë ∑§fl‹ ©Uã„UË¥ √ÿÁQ§ÿÊ¥ ∑§Ê ŒË ¡ÊÃË 

„ÒU, Á¡‚∑§Ë •ÊÿÈ 18 fl·¸ ÿÊ ©U‚‚ •Áœ∑§ „UÊ ¬⁄UãÃÈ 60 fl·¸ ‚ ∑§◊ „UÊ –  

 •ÊÿÈ ( fl·ÊZ ◊¥ )  ¬ÊÚÁ‹‚Ë œÊ⁄U∑§Ê¥ ∑§Ë ‚¢ÅÿÊ  

 20 ‚ ∑§◊  2 

 25 ‚ ∑§◊  6 

 30 ‚ ∑§◊  24 

 35 ‚ ∑§◊  45 

 40 ‚ ∑§◊  78 

 45 ‚ ∑§◊  89 

 50 ‚ ∑§◊  92 

 55 ‚ ∑§◊  98 

 60 ‚ ∑§◊  100 

•ÕflÊ  

 ªÁáÊÃ ∑§Ë ∞∑§ ¬⁄UËˇÊÊ ◊¥ 30 ÁfllÊÁÕÿ̧Ê¥ mÊ⁄UÊ ¬˝ÊåÃ Á∑§∞ ª∞ •¢∑§Ê¥ ∑§Ê ’¢≈UŸ ÁŸêŸÁ‹ÁπÃ „ÒU —  

¬̋ÊåÃÊ¢∑§Ê¥ ∑§Ê flª ̧
•ãÃ⁄UÊ‹  

10-25 25-40 40-55 55-70 70-85 85-100 

ÁfllÊÁÕ¸ÿÊ¥ ∑§Ë ‚¢ÅÿÊ 2 3 7 6 6 6 

 ßŸ •Ê°∑§«∏UÊ¥ ‚ ∑§ÁÀ¬Ã ◊Êäÿ ÁflÁœ ‚ ◊Êäÿ ôÊÊÃ ∑§ËÁ¡ÿ ∞fl¢ ’„ÈU‹∑§ ÷Ë ôÊÊÃ ∑§ËÁ¡∞ –  
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 A Life Insurance agent found the following data for distribution of ages 

of 100 policy holders. Calculate the median age, if policies are given 

only to persons having age 18 years onwards but less than 60 years. 

 Age ( in years ) Number of policy holders 

 Below 20 2 

 Below 25 6 

 Below 30 24 

 Below 35 45 

 Below 40 78 

 Below 45 89 

 Below 50 92 

 Below 55 98 

 Below 60 100 

OR 

 The marks distribution of 30 students in a mathematics examination 

are as follows : 

Class-interval 

of marks 

10-25 25-40 40-55 55-70 70-85 85-100 

Number of 

students 

2 3 7 6 6 6 

 Find the mean by assume mean method and find also the mode of 

given data. 

   


